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11.

GENERAL INSTRUCTIONS TO CANDIDATES

The question paper comprises two parts, Part I and Part IL.

Part I comprises Multiple Choice Questions (MCQs).

Part IT comprises questions which require descriptive type answers.

Ensure that you receive the question paper relating to both the parts. If you have not
received both, bring it to the notice of the mnvigilator. '

Answers to MCQs in Part I are to be marked on the OMR answer sheet as given on the
cover page of descriptive answer book of Section — A only. Answers to questions in Part
II are to be written in the same descriptive answer book. Answers to MCQs, if written
inside the descriptive answer book or on Part-II Question paper will not be evaluated.
OMR answer sheet given on the cover page of descriptive answer book will be in
English only for all candidates, including for Hindi medium candidates.

The bar coded sticker provided in the attendance register, is to be affixed only on the
descriptive answer book.

You will be allowed to leave the examination hall only after the conclusion of the
exam. If you have completed the paper before time, remain in your seat till the
conclusion of the exam. '

Duration of the examination is 3 hours, You will be required to submit (a) Part I of
the question paper containing MCQs, and (b) the answer book in respect of
descriptive answer book with OMR cover page to the invigilator before leaving the
exam hall, after the conclusion of the exam,

The invigilator will give you acknowledgement on Page 2 of the admit card, upon
receipt of the above-mentioned items,

Candidate found copying or receiving or giving any help or defying instructions of -
the invigilators will be expelled from the examination and will also be liable for
further punitive action,

PART -1I1 70 Marks
Section-A : Question paper comprises 4 questions (1 to 4). Answer Question No. 1
which is compulsory and any 2 out of the remaining 3 questions.

Section-B : Question paper comprises 4 questions (5 to 8). Answer Question No. §
which is compulsory and any 2 out of the remaining 3 questions.,

Answers to the questions are to be given only in English except in the case of
candidates who have opted for Hindi Medium. If a candidate has not opted for Hindi
Medium, his/her answers in Hindi will not be evaluated,

Working note should be part of the respective answers,
EUM2H) P.T.O.
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PART -11

Section-A

(a) Theme Ltd provides you the following information :

12.5 % Debt ¥ 45,00,000
Debt to Equity ratio 1.5:1
Return on Shareholder’s fund 54%
Operating Ratio 85%
Ratio of operating expenses to Cost of Goods sold 2:6
Tax rate 25%
Fixed Assets T 39,00,000
Current Ratio 1.8:1

(b)

You are required to calculate :

(i) Interest Coverage Ratio

(i) Gross Profit Ratio

' (iii) Current Assets

Alpha Limited has provided following information :

Equity Share Capital | 25,000 Shares @ ¥ 100 per Share

15% Debentures 10,000 Debentures @ T 750/- per Debenture
Sales 50 Lakhs units @ ¥ 20 per unit

Variable Cost T 12.50 per unit

Fixed Costs T 175.00 Lakhs

Due to recent policy changes and entry of foreign competitors in the

sector, Alpha Limited expects the sales may decline by 15-20%,

However, selling price and other costs will remain the same. Corporate

Taxes will continue @ 20%.
You are required to calculate the decrease in Earnings per share,

Degree of Operating Leverage and Financial Leverage separately if
sales are declined by (i) 15%; and (ii) 20%.

EUM2(H)
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(¢) Following is the sales information in respect of Bright Ltd :

Annual Sales (90 % on credit)
Credit period

Average Collection period
Bad debts

Credit administration cost

(out of which 2/5% is avoidable)

% 7,50,00,000

45 days
70 days
0.75%

T 18,60,000

A factor firm has offered to manage the company’s debtors on a non-

recourse basis at a service charge of 2%. Factor agrees to grant

advance against debtors at an interest rate of 14% after withholding

20% as reserve. Payment period guaranteed by factor is 45 days. The

cost of capital of the company is 12.5%. One time redundancy

payment of ¥ 50,000 is required to be made to factor.

Calculate the effective cost of factoring to the company.

(Assume 360 days in a year)

(a) The capital structure of Shine Ltd. as on 31.03.2024 is as under :

Particulars Amount )

Equity share capital of ¥ 10 each 45,00,000
15% Preference share capital of ¥ 100 each 36,00,000
Retained earnings ' 32,00,000

| 13% Convertible Debenture of ¥ 100 each 67,00,000
11% Term Loan 20,00,000
Total 2,00,00,000

EUM2(H)
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Additional information :

(A) Company issued 13% Convertible Debentures of ¥ 100 each on
01.04.2023 with a maturity period of 6 years. At maturity, the
debenture holders will have an option to convert the debentures
into equity shares of the company in the ratio of 1 : 4 (4 shares
for each debenture). The market price of the equity share is X 25
each as on 31.03.2024 and the growth rate of the share is 6% per
annum.,

(B) Preference stock, redeemable after eight years, is currently
selling at T 150 per share.

(C) The prevailing default- risk free interest rate on 10-year GOI
treasury bonds is 6%. The average market risk premium is 8%
and the Beta (B) of the company is 1.54.

Corporate tax rate is 25% and rate of personal income tax is 20%.

You are required to calculate the cost of :

(1) Equity Share Capital

(ii)) Preference Share Capital

(iii) Convertible Debenture

(iv) Retained Earnings

(v) Term Loan

(b) Following data is available in respect of Levered and Unlevered 4

companies having same business risk :
Capital employed =¥ 2,00,000, EBIT =¥ 25,000 and K, = 12.5%

Sources Levered Company (¥) | Unlevered Company (%)
Debt (@ 8 %) 75,000 Nil

Equity 1,25,000 2,00,000
An investor is holding 12% shares in levered company. Calculate the

increase in annual earnings of investor if he switches over his holding

from Levered to Unlevered company.

EUM2(H)
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3. (a) HCP Ltd. is a leading manufacturer of railway parts for passenger 7
coaches and freight wagons. Due to high wastage of material and
quality issues in production, the General Manager of the company is
considering the replacement of machine A with a new CNC machine
B. Machine A has a book value of ¥ 4,80,000 and remaining economic
life is 6 years. It could be sold now at ¥ 1,80,000 and zero salvage
value at the end of sixth year. The purchase price of Machine B is
T 24,00,000 with economic life of 6 years. It will require T 1,40,000
for installation and ¥ 60,000 for testing. Subsidy of 15% on the
purchase price of the machine B will be received from Government at
the end of 1st year. Salvage value at the end of sixth year will be
¥ 3,20,000.

The General manager estimates that the annual savings due to
installation of machine B include a reduction of three skilled workers
with annual salaries of ¥ 1,68,000 each, ¥ 4,80,000 from reduced
wastage of materials and defectives and ¥ 3,50,000 from loss in sales
due to delay in execution of purchase orders. Operation of Machine B
will require the services of a trained technician with annual salary of
¥ 3,90,000 and annual operation and maintenance cost will increase by
L4 1,54,000. The company’s tax rate is 30% and it’s required rate of
return is 14%. The company follows straight line method of
depreciation. Ignore tax savings on loss due to sale of existing

machine.
The present value factors at 14% are :

Years 0 |1 2 3 4 5 6

PV Factor |1 [0.877 [0.769 |0.675 |0.592 |0.519 |0.456
Required : .

(i) Calculate the Net Present Value and Profitability Index and
advise the company for replacement decision.
(ii) Also calculate the discounted pay-back period.

EUM2(H) P.T.O.
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Vista Limited’s retained earnings per share for the year ending
31.03.2023 being 40% is ¥ 3.60 per share. Company is foreseeing a
growth rate of 10% per annum in the next two years. After that the
growth rate is expected to stabilize at 8% per annum. Company will
maintain its existing pay-out ratio. If the investor’s required rate of
return is 15%, Calculate the intrinsic value per share as of date using

Dividend Discount model.

State with brief reasons whether the following statements are true or

false :

(i) Maximising Market Price Per Share (MPS) as the financial
objective which maximises the wealth of shareholders.

(ii) A combination of lower risk and higher return is known as risk-
return trade off and at this level of risk-return, profit is
maximum.

(iii) Financial distress is a position when accounting profits of a firm
are sufficient to meet its long-term obligations.

(iv) Angel investor is one who. provides funds for start-up in

exchange for an ownership/equity.

ABC Ltd. is approaching the banks for financing its business activity.
You are required to describe any four forms of bank credit for the

consideration of the company.

Discuss the relevance of Payback reciprocal in capital budgeting
decisions.
OR

Explain the features of crowd funding.
EUM2(H)
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Section-B

(a) BOYA Ltd. is a venture in the market present for a decade. Till, 2023, 2+3

(b)

it was working on the values and vision of its founder while operating
in limited area of operations.

Growth opportunities exist for BOYA Ltd. Considering the changing
environment, company is interested to leverage new skills in
marketing, technology, product development and financial
management. As a known fact, modifying one aspect might have a
ripple effect on other elements. The company wants to understand
various hard and soft elements interrelated with each other in the
company and having a bearing on effective operational results.

As a strategist, you intend to prepare a questionnaire based on both
types of elements by analyzing the organizational design. The response
to the same will help in finding an answer to ensure effectiveness
through the interaction of such elements.

Briefly discuss the strategic model you will use in the given situation.

State the limitations of the model as well.

Elvis Global is a famous OTT platform facing fierce competition from
its competitors amid changing consumer preferences. This has made it
difficult to retain customers as the existing television channels are also
launching their own platforms. The company has appointed Raghav to
lead the company forward as the sales & marketing manager. Raghav
needs to design creative and innovative advertising campaigns to gain
a competitive edge, engage the public and capture the market.

Identify the strategic level that represents Raghav’s role at Elvis
Global. As a strategic advisor, highlight the various benefits of

strategic management in overcoming different challenges to Raghav.

EUM2(H) P.T.O.
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(¢) Yash is planning to launch his new tech start-up. He is exploring 1+4

different locations across the country to establish his company in the =5
right business environment. One option is the city of Bengaluru, the
silicon valley of India, with an engaging network of entrepreneurs,
investors, advisors and mentors. Coupled with various subsidies for
new ventures and tax benefits, Bengaluru might be an ideal choice for
Yash to establish his company and increase the chances of success.
Define the term Business Environment with respect to the above
scenario. Explain the different ways in which the interaction of a
business with its environment can be helpful in developing a
successful strategy.

(a) ‘Innovation leads to unnecessary expenses that do not give as many 1+4
returns.” Do you agree with the statement ? Give reasons in support of =5
your answer.

(b) Explain how organizations can effectively manage strategic 3
uncertainties in a rapidly changing business environment.

(a) What are the key characteristics of business products that contribute to &
the overall competitiveness and dynamics of the market ?

(b) ‘A company’s mission statement is typically focused on its present §
business scope.” Explain the significance of a mission statement.

(a) What are channels ? Why is channel analysis important ? Explain the 1+1+
different types of channels ? 3=

(b) Explain the concept of vertically integrated diversification. How is 5§
forward integration different from backward integration ?
OR
(b) Recommend a tool to analyze the competitive position of various rival §
companies in the market and outline the step by step procedure for
using the identified tool.

EUM2(H)
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PART -II
(Hindi Version)
Section — A
(a) Theme%.ﬁﬁﬁ%'&gﬁwmﬁ% 5
12.5% % 45,00,000
0T THAT 3T 1.5:1
GRPITCTCIRE DR S 1o B 54%
R 1T 85%
R ol 1 e e R e A o 216
FH R 25%
R gwfat ¥ 39,00,000
IS GRIn] 1.8:1
HTIH 37afdrd B T o Hifdre -
(i) SIS TET AU
(i) S AT AT
(iii) =Te] fert
(b) Alpha {1, 3 Frerferie qeam yem a0 & ; 5
qual 79 G 25,000 37 T 100 T 3791
15% 0T 93 10,000 k9T 9 ¥ 750/- Sedeh 0T UH &%
IEED 50 TG 13T Iiel 3618 T 20
uiadasiter s T 12.50 wfe gopTs
for @rE ¥ 175.00 ©ir’G

T U g2 Aiferra il aen 5w a7 A e e % S99 %
S Alpha {1, <6t sremen @ 6 faspa 15-20% 7% f gt 2 | Ty
fosra Hma qon = arr Tae @ | Frmr & ot 20% H T W

Hull
IS anfda 2 wfy

39 ™ T ), IRETET INET &HaT adn

Terefir woTam g 1 feft it A srer-arem e s e §
(i) 15% T (i) 20% 6 HH 81 97U |

EUM2(H) P.T.O.
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(¢ we 1. F foska wawft geamd ffoRga € -
aifes farshar (90% a/@ W)

qrg A4y

Ifaa qug rafy

AN ]

TG TRTEA ARTd (RTEehT 2/5 Tasesd §)

Z 7,50,00,000
45 f&m
70 fe

0.75%

< 18,60,000

T el W A P F TSR BT 2% o Va1 IHI I X F TH-Rep

YR W o4 A T T e 8 | et wema 8 f6 20% s &

9 H U o IW STERI W 14% SIS S & ABW YIaH T 2m |

YA FEfy 45 o Seaet gra v R | wEEt i gSh A o
- 12.5% 3 | B % T IR g3t 3Taw T 50,000 IR R |

FHET 3 foTu e it gl IeTd Sl o HifR |
@9 & 360 fem T HIfvm )

(8 31.03.2024 % Shine e, <t Ioft T Fraq & -

faaor TR )
THAT A St I&H T 10 45,00,000
15% TERmeRT 3791 $ft % 2 100 500,000
32,00,000
i A=

| 67,00,000
13% IR =01 99 T T 100 $ 20,00,000

11% <SreleRTen T
e 2,00,00,000

EUM2(H)
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ﬂﬁﬂﬁ?ﬁ‘lﬁ: '

(A) AT I 01.04.2023 H TIF T 100 F 13% IREIT H01
6 =S <6t iuerar rafy % R it fvw | aftwsar w =0 o
YR i 78 e 8 6 3 1:4 (0 Fo1 v ¥ T =1 3w
< I & O G 3§ afad X wH | wwar st
STSR 79 31.03.2024 i T 25 Wfer 3791 @ o 37 &1 fyg &
6% gferad 2 |

(B) TR &, Gﬁsaﬁmsﬁm% a?fmqﬁ%lsosrﬁrm
RIAARE |

(C) mﬁmﬁm@awaloaﬁhwléﬁﬁmm
6% B | 3NGT TSR SNRGH e 8% 2 7o et 1 e (p)
1.54 8 | TR o6t <61 g2 25% e T STt Y & 20% 2 |

398 3rféra & fo Tt & o i o Hifvr

(@) & 3 gt

(i) qaifeEpR 3w it

(i) TRE 37207 O

(iv) et Iumta

(v) Crelerrefi 3o

U U SATGHIRYh SReH Sreft witae a2 e smiid) & oy 4

# frafofaa sifee suceu & -

ferfeafSra st = 2 2,00,000, =1 w6 0 ot T = 2 25,000 ATK, = 12.5%

8. TS HET (3) IS H (3)
0T T 8% 75,000 Nil
et 1,25,000 2,00,000

T Tl & oftad S & 1295 o & | Rl 6 a1 g &
qﬁgﬁmaﬁﬁ?}aﬁ%m@ﬁnvﬁa@fmﬁﬁmﬁﬁa@
FHH § FTAd HL |

EUM2(H) P.T.O.
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(@ HCP fo1. T¥=R *r= qun S F ol wied Iaes & | annft %

ACATH & AT TS | T[T THET o HROT HEIHT b TGTIH
7T A & F=ft CNC 739 B @ wfeeufig s Wfemm @ € )
T A T JEThIT 6 T 4,80,000 AT AN AT Sfta 6 99 @ | 77
39 G ¥ 1,80,000 § 9= 1 TRl 8 AT BS A9 & = A I Aleal
A Tt | W9 B 1 79 e T 24,00,000 TUT AT e 6 af 2 |
39 W T 1,40,000 T = qAT T 60,000 AT % @I FH T |
Yo Y & IR WY B & T Ted | 15% HT 3TIGH TR & T
T S | &3 9 F a1 & wea 9 2 3,20,000 BRAT |

HEWE-4% & A 8 f6 w39 B 6t wmaen @ anftes s=at ° o=
feres gfiepl 1 a1fte 907 TS & T 1,68,000, T 4,80,000 AT w6
St & # e @ QT T 3,50,000 HF 3T <t YR A AW |
fosra % =t @ nferet g0t | wefie B 1 afEmem & ol w wfirfda
SFIREA arfee Rraeer aififes a7 2 3,90,000 B e anfdes afteme
T TE-TGT i ST A R 1,54,000 1 SGIert 81 A1 | ot &
T T 30% B AT FUMHA A R 14% 7 | F1 g1 61 dieft T
fafty o1 rgeRor et B | Idam weiia o faska W g1 % R R w=a
%t e AR |

14% 1 X R FAHH o3 Feet e 2 -

CL 0 1 2 3 4 5 6

?:R-fl:l‘l:[‘l{(a 1 | 0.877 | 0.769 | 0.675 | 0.592 | 0.519 | 0.456
HUch

Tfdra

() Y8 TAUH oA T ATWERIHT 37 i TUMT ShITE a4 Het
&\ yfereemas fota w weng € |

(i) fewpRues v-d% ffas 6t momr Hifse |

EUM2(H)
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(b) Vista fe1. s wfaeia surht uf 31w 31.03.2023 Y 99w Ty &

(2)

(b)

©

(©)

foTT 7 3.60 (40%) B | FrE ey & ANt F o Ry w 10% B
HTHT B @ R | qeavET e o 8% R B Y y=mwm )
FEH U T TR IATT B wEw @ | i e 6@
AP ST T 15% 8, SAWIS 957 Wiee (Dividend Discount model)
meymﬁﬁlmﬁﬁﬁ%ﬁ%ﬁ@(lnumsic value of
share)ﬁ"ﬂmﬂﬁﬁml

Hf&TH HRUT 1 i B ¢ W HRE B RefiRed Reoraa §

ALY ;

() focfa S & w0 § oW T wfy W B R
FTET < Ter @ STfreas FaT R |

() #9 few 3R e T w1 Sifer-veE 3 aiw we
& | U1 T — TeIrr % 39 R W o SR g R |

(iii) forcftr Tehe a8 fRufq & v freht v & Swiosa v Sl
R ! wraTfed i % fore wate & |

(iv) qﬁaﬁﬁﬁma%ﬁmﬁmﬁmwﬁa/m%
fafmaddar g

ABC f&1. 37 smeEfies frnadt & frfem & R $91 =) wiw #=
W R | FFf & R % e o @ s 2 6 8% e 3 fedf
IR YHRI 1 TUH FHifdfu |

%ﬁwﬁnﬁﬁﬁﬁﬁ—éﬁmﬁm!ﬁmﬁmﬁml
e
HIST HUST % T} ohl ST I |

EUM2(H)
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Section — B

1T fA. (Boya Ltd.,) €3k & 9TSIR § Tifid 8 | 2023 @ 98 A9
HETTH % I T3 fereh ool & STHR B FTfl § 307 SAUR F
HaeH % Hift| &3 § | 9gerd §¢ TTaEl Bl | § W@d g¢ O
forfta werem & & # T3 §R A AT @1 e B | I8 TS ;¢ 6
I Toh < I TG & 1 SHHT O IWTT gER a1 W oft g B,
U1 TE ST =TEd @ fop fafie Srehm 3 goreh U Wi o U R
U | IS 5§ 3R w1 ata giomIs Geer % aiem § mite
2l

T WHife 6 T8 3Ieh! SATUIies festmee w1 favaiwor #a gu Qe
YHR & Tl (elements) & AIARX TH TG RN FE 2 | 5@
gafram & 37 3T ol SR & STErET Bft @ 39 TR % a6
TorcTTeRt ST ST wga woe Rrg BT @ |

89 ﬁaﬁa&%%&mmw@ﬁmm (strategic module) 3ATH
34 feufy & o G | 9 Ty 39 T3 Y Fmist (limitation)
ft 9aTEY |

Elvis Global T ST WHMT OTT WA (Platform) & e HuA
wfigfat @ e wfeeaul o1 qmEaT S 9 W@ R | RS % See
= I 3EA Y, T G Y YA A ST T b T I w5
S{eTS 21 Tt & Fifeh WNET TV Channel ¥t 393 OTT Platform =Te],

R E | o T ) e e @ R ww S B R

9T Jomeh % U H AWM A AR A T |
THE | YoHTers T 13 TR $H foqmm nfafafe 5 s & e

giaeaulcres dedn o A9 o & 3R AT ) 79 IR STreia

o FTE8 R 5K W 37ehT Hoal Bl T |

‘Elvis Global ¥ g % WHifis &R #1 TENY | U WHIR®

YATEHR & & & YIS & T 1 el ferfd gefert =t or v 3
wrifees Taum < fafay ey = s9rR il
EUM2(H)
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() T THAIH SR & o1 Iew I® A & W) F e @ R T QAW

(2)

(b)

(@)

(b)

(a)

(b)

(b)

& faft =l % aR & vy = @ 2, R sodh S v ad
=TT TR 7 foremfia & @ | T freea & Srere oY s wra Y
fferrT 3t (Silicon Valley) & 37 e s, Ravh, TATEHR 39K
STFAC THRIGTAT % S Yok H AU & |
qﬁm%%{qaﬁmmqﬁmﬁ@%maﬂ@@m
forpeq 2 5T W Huh ) e FO F e, Rred g5ear 5 s
TG TS |
% ITYH HYA F AR AT GRfRRy Y aieivg iR |
*  AA-SI % g e R Y awe wEif T ¥ Rig
o= yrl w1 Ty |
TATIA | IR @ Sl & S Ia Red G 24T |° 791 o9 39
FYT Y TG § 7 3T I |1 HRY §AET |

e yHR & TR Wiw T I AR A B OERE
HifPaarest @ faear 8 2 37! auzmEy |

SR II7G ht 7 fordivanait =t wamse s 7 w6t qof wiregwd
Td 7 (dynamics) % foTT T8 & 9

‘Wmmmwm?ﬁtmmaﬁuﬁmw
R ST BT R | e wewren S ) Iy |

=Sl (Channels) #1 & 7 ¥9a w1 fvemwr T} amavas 2 | v
TR & ATl h! GHITIT |

FHeaiet Chipa fafarefieo 1 sraeamon ) waem | g ver S o
1 AT ThiERT 18 hi it b & = f 7

T
ﬁamﬁﬁmﬁaﬁﬁqﬁﬂﬁwﬁﬁﬁm’wﬁﬁaﬁmm
H ST 1 Feh AT TN §C WTET Y BhE THR I H6 98
SHUTTET FTST |

1+1+
=5
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LU [ I ) o TR

Fo I <l HEAT - 8

FHA TS - 16 AT 3 - 70
svafiat & forg g fdw

1. ¥S-9F F § WM §, Part-I 3R Part-II.

2. Part1# sgfeedia 9w (MCQs) ¥ |

3.  Part-II # qUATHS FHR F S il &7 970 U € |

4. ghiitag = s 9t wit @ Gl ww-u som e fRe @ | AR s QW s v

2 TR € @ frlles & e § )

5. Part-] % S & IW Ha@ OMR SWR-17 R Fufgq w1 & it % avirers sw-gfd
(Section-A) ¥ W Y8 W T T & | Part-I1 F et ¥ IR A0S FeR-qR A -
frar R | agfecdia it & SW aviers SW-IRE F HIR a1 Part-1 Sgfeedia
T -gie # foren W S qeie g 8 |

6. OMR SWR-94, S for quivTews SR-gfEme & ger g8 W foar wn @ | asht srvaffdt &
forg, fét wrem & svaffat wfea, e sih & €

7. Sufedfa wsigs A fear IR Fie e aviares TR SW-gfRer | e S |

8. wiEm # wwift F uwEg @ suw wien e B i mwla e | AR sow www @
@ AR ot g% form & Y off s st e o € e @

9. wliem & safy 3 e § | SRl Tl A GAIW W YL T FH DA F T e
W (o) TEfamedT Ul A WH-TA F Part- 3R (b) FoiAToE IR Aot S-gT
HH 9B |l T AT AEEF © | i

10. SvgF shfa ammft & mity w=, e vav-w= & 8 2 | afieElish s wm |

11. s 7w owa a1 fFdt YR A gewar @ 91 We w1 b 5 e i s
L qraT @, @ wan @ et = far smon d@k s sk e wEad &
forg sft Sererft B |

AT — 11 70 37
1. Section-A % 14 76 I & | Ty e 1 SRR R o A9 3 T H A Rei 2 ST e R |
2. Section-B ¥ 5-8 Tk T & | I T 5 AR 2 qen W 3 UFI H Y Rl 2 ISR |
3. 3 wdienfii @1 sieawt Rrgin &=l mem 571 ], awl & ST Shae Ssh § @
g | 58 wdremeff e famdt mmeam =t 5o ], afe e o s e &, Y swes e A fed
T3 I BT YA A& 20 |
4. Frisfier Reoaforat s s wmr |l streft |
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